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	22.	 A filtration experiment was carried out to separate X and Y.

X

Y

Which line in the table correctly describes X and Y?

X Y

A solvent residue

B residue filtrate

C filtrate precipitate

D residue solvent

	23.	 Which piece of apparatus should be used to accurately measure 45 cm3 of a solution?

A	 50 cm3 beaker

B	 50 cm3 pipette

C	 50 cm3 burette

D	 50 cm3 measuring cylinder
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	24.	 A student was carrying out a titration.

Which of the following would help the student to accurately observe the end-point?

A	 Repeating the titration

B	 Using a white tile under the flask

C	 Rinsing the flask between titrations

D	 Disregarding the rough titre

	25.	 Carbon dioxide can be produced by the following reaction.

2HCl(aq)  +  K2CO3(aq)  ↓  2KCl(aq)  +  CO2(g)  +  H2O(ℓ)

The most suitable method of isolating the carbon dioxide is by

A	 bubbling through calcium hydroxide

B	 collection over water 

C	 evaporation

D	 distillation.

[END OF QUESTION PAPER]


